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Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

• Please check that this question paper contains 7 printed pages + 2 Maps.

• Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

• Please check that this question paper contains 27 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 + 2 ekufp=k gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 27 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

SOCIAL SCIENCE
lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku

Time allowed : 3 Hours Maximum Marks : 100

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad :  100

General Instructions :

1. Answers to questions carrying 2 marks should not exceed 30 words each.

2. Answers to questions carrying 4 marks should not exceed 60-80 words each.

3. Answers to questions carrying 6 marks should not exceed 100-125 words each.

4. Maps should be securely tied in the middle of the Answer-Book.

5. Attempt all parts of a question together.

6. Stencils or templeates for drawing outline maps may be used wherever necessary.

lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

1. 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA

2. 4 vadksa okys izR;sd iz'u dk mÙkj 60 ls 80 'kCnksa ls vf/kd u gksA

3. 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls vf/kd u gksA

4. ekufp=kksa dks mÙkj&iqfLrdk ds chp esa etcwrh ls ckaf/k,A

5. fdlh iz'u ds lHkh Hkkxksa ds mÙkj lkFk&lkFk nhft,A

6. tgk¡ dgha vko';d gks LVSaflyksa vFkok lakpksa dks js[kk&ekufp=k cukus ds fy, bLrseky fd;k

tk ldrk gSA

32/2/3
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1. Describe briefly two main features of Archaeological heritage of India. 2×1=2

Hkkjrh; iqjkrRoh; fojklr dh nks eq[; fo'ks"krkvksa dk la{ksi esa o.kZu dhft,A

2. “Indian heritage is very rich, vast and varied and forms a colourful cultural mosaic.”
Substantiate this statement with any two examples. 2×1=2

^^Hkkjrh; fojklr cgqr le`)] foLr`r] oSfo/;iw.kZ gS tks jaxkjax lkaLÑfrd fp=k izLrqr djrh gSA**

dksbZ nks mnkgj.k nsdj bl dFku dh iqf"V dhft,A

3. Write four uses of manganese ore. 4×½=2

eSaxuht v;Ld ds pkj mi;ksx fyf[k,A

4. Mention four advantages of forests to man. 4×½=2

euq"; ds fy, ouksa ds pkj ykHkksa dk mYys[k dhft,A

5. Explain two reasons for conservation of water. 2×1=2

ty laj{k.k ds nks dkj.kksa dks Li"V dhft,A

6. State four characteristics of natural resources. 4×½=2

izkÑfrd lalk/kuksa dh pkj fo'ks"krkvksa dk mYys[k dhft,A

7. “India has a variety of relief features viz. mountains, plateaus and plains.” Which of
these relief features cover the largest area ? Write two characteristics of this relief
feature. 1+1=2

^^Hkkjr esa Hkw&vkÑfrd y{k.kksa esa fofo/krk ikbZ tkrh gS] tSls ioZr] iBkj vkSj eSnkuA** buesa ls Hkkjr

dk dkSulk Hkw&vkÑfrd y{k.k lcls vf/kd foLr`r gS \ bl Hkw&vkÑfrd y{k.k dh nks fo'ks"krkvksa

dks Li"V dhft,A

8. Study the following diagram, showing net area under irrigation by different means
(1997-98) and answer the questions that follow : 1+1=2

INDIA
NET AREA UNDER IRRIGATION BY DIFFERENT

MEANS (1997-98)

(8.1) Which is the major source of irrigation in India ?

(8.2) In which parts of India is tank irrigation common ?
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fuEufyf[kr vkjs[k esa fn[kk, x, 'kq) cks, x, {ks=k dh flapkbZ esa fofHké lk/kuksa ds ;ksxnku

¼1997&1998½ dk v/;;u dhft, vkSj uhps fn, x, iz'uksa ds mÙkj nhft, %

HkkjrHkkjrHkkjrHkkjrHkkjr

'kq) cks, x, {ks=k dh flapkbZ esa fofHké lk/kuksa dk ;ksxnku'kq) cks, x, {ks=k dh flapkbZ esa fofHké lk/kuksa dk ;ksxnku'kq) cks, x, {ks=k dh flapkbZ esa fofHké lk/kuksa dk ;ksxnku'kq) cks, x, {ks=k dh flapkbZ esa fofHké lk/kuksa dk ;ksxnku'kq) cks, x, {ks=k dh flapkbZ esa fofHké lk/kuksa dk ;ksxnku

¼1997 & 98½¼1997 & 98½¼1997 & 98½¼1997 & 98½¼1997 & 98½

(8.1) Hkkjr esa flapkbZ dk izeq[k lk/ku dkSulk gS \

(8.2) Hkkjr ds dkSuls rkykc ls flapkbZ dh tkrh gS \

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 8.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 8 ds LFkku ij gSA

Why is irrigation necessary in India ? Give two reasons. 1+1=2

Hkkjr esa flapkbZ dh vko';drk D;ksa gS \ nks dkj.k nhft,A

9. Explain two main reasons for the need of environment-friendly economic growth and two
suggestions to achieve them. 2

okrkoj.k&eS=kh vkfFkZd fodkl dh vko';drk ds fy, nks eq[; dkj.k Li"V dhft, vkSj mldh izkfIr

ds fy, lq>ko nhft,A

10. What is Globalisation ? Mention two main shortcomings of Globalisation in the context of
India. 2

oS'ohdj.k D;k gS \ Hkkjr ds lanHkZ esa oS'ohdj.k dh nks eq[; dfe;ksa dk mYys[k dhft,A

11. “Indian economy is developing and progressive in nature.” Do you agree with this view ?
Support your answer with two examples of each. 2

^^Hkkjrh; vFkZO;oLFkk izÑfr esa fodkl'khy vkSj izxfr'khy gSA** D;k vki bl dFku ls lger

gSa \ vius mÙkj ds leFkZu esa izR;sd ds nks mnkgj.k nhft,A

12. “The problem of population growth and underemployment have a direct relationship.”
Explain this statement briefly. 2

^^tula[;k esa o`f) dh leL;k vkSj vYijkst+xkj esa izR;{k lecU/k gSA** bl dFku dks la{ksi esa

Li"V dhft,A
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13. Evaluate briefly the main features of India’s developmental strategy prior to 1991. 2

1991 ls iwoZ Hkkjr dh fodklkRed dk;Zuhfr dh eq[; fo'ks"krkvksa dk la{ksi esa ewY;kadu dhft,A

14. Describe the main features of Indian festivals and their importance in promoting national
integration in India. 4

Hkkjrh; R;ksgkjksa dh izeq[k fo'ks"krkvksa dk o.kZu dhft, rFkk Hkkjr esa jk"Vªh; ,dhdj.k dks c<+kus

esa budk egÙo crkb,A

15. Mention four main features of India’s cultural heritage of Colonial period. 4

OR

State four main features of Temples of South India. Give two reasons for the popularity
of  Mahabalipuram Temples.

vkSifuosf'kd dky dh Hkkjr dh lkaLÑfrd fojklr dh pkj eq[; fo'ks"krkvksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

nf{k.k Hkkjr ds eafnjksa dh pkj eq[; fo'ks"krk,¡ crkb,A egkcyhiqje ds eafnjksa dh izfl)h ds nks

dkj.k nhft,A

16. Explain any four methods of conservation of our mineral wealth. 4×1=4

viuh [kfut lEink ds laj{k.k ds fy, fdUgha pkj fof/k;ksa dks Li"V dhft,A

17. Describe the salient features of the Consumer Protection Act of 1986. How did it enhance
the powers of the redressal machinery in India ? 4

1986 ds miHkksäk laj{k.k vf/kfu;e dh eq[; fo'ks"krkvksa dk o.kZu dhft,A Hkkjr esa bl

vf/kfu;e us f'kdk;rksa dks nwj djus okyh laLFkkvksa ds vf/kdkjksa esa dSls o`f) dh gS \

18. What  is meant by  sustainable economic  growth  ?  What  are   the   main   features  of
sustainable economic growth ? 4

/kkj.kh; ¼lrr iks"k.kh;½ vkfFkZd fodkl dk D;k vFkZ gS \ /kkj.kh; ¼lrr iks"k.kh;½ vkfFkZd fodkl

dh eq[; fo'ks"krk,¡ D;k gSa \

19. Explain how India has been playing a significant role in promoting world peace through
the United Nations. 4

Hkkjr us la;qä jk"Vª&la?k ds ek/;e ls fo'o&'kkafr dks c<+kus ds fy, fdl izdkj egÙoiw.kZ ;ksxnku

fn;k gS \ Li"V dhft,A

20. What is meant by ‘endangered species’ of wild life ? Explain the measures taken to
conserve and protect them. 6

oU; thoksa dh ^ladVkié iztkfr;ksa* ls D;k vfHkizk; gS \ budks lajf{kr vkSj lqjf{kr j[kus ds fy,

fd;s x;s mik;ksa dks Li"V dhft,A

21. Explain the importance of air transport in India. Give six points. 6×1=6

Hkkjr esa ok;q ifjogu dh egÙkk dks Li"V djus okys N% fcUnqvksa dh O;k[;k dhft,A
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22. What  are   the  two  most  important beverage  crops  in  India  ?  State  the  favourable
conditions for their growth. Mention two major producing states of each crop. 1+3+2=6

Hkkjr dh nks lcls izeq[k is; Qlysa dkSulh gS \ bu Qlyksa dh mit ds fy, vuqdwy n'kk,¡

crkb,A izR;sd Qly ds nks izeq[k mRiknd jkT;ksa dk ukeksYys[k dhft,A

23. What is the importance of sugar industry ? Why does sugar industry show the tendency
to migrate towards the southern states of India ? Give four reasons. 2+4=6

OR

How  has  chemical  industry  gained  an important  position  in  the   Indian  economy  ?
Explain any six points in this regard. 6×1=6

phuh m|ksx dk D;k egÙo gS \ Hkkjr esa phuh m|ksx ds izolu dh izo`fÙk nf{k.kh jkT;ksa dh vksj

D;ksa fn[kkbZ iM+rh gS \ pkj dkj.k nhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjrh; vFkZO;oLFkk esa jlk;u m|ksx us fdl izdkj egÙoiw.kZ LFkku izkIr dj fy;k gS \ bl lanHkZ

esa fdUgha N% fcUnqvksa dks Li"V dhft,A

24. Explain   the   causes   of   unemployment   in   India   and   suggest   measures   to   reduce
unemployment in India. 6

OR

Examine the role of ‘skill development’ in reducing educated unemployment in India.
State two measures taken by the government in this regard.

Hkkjr esa csjkst+xkjh ds dkj.kksa dks Li"V dhft, vkSj Hkkjr esa csjkst+xkjh dks de djus ds fy, lq>ko

nhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr esa f'kf{kr csjkst+xkjksa dh la[;k dks de djus esa ^dkS'ky fodkl* dh Hkwfedk dh leh{kk

dhft,A bl lanHkZ esa ljdkj }kjk bl {ks=k esa fd, x, nks mik; crkb,A

25. Explain the meaning of Human Development Index. Mention three main components of
measuring Human Development Index according to U.N.D.P. Report of 1990. 6

OR
Explain the importance of good health for the human resource development and for
the economic growth of India. Write the main activities which are covered under good
health.

ekuo fodkl lwpdkad dk vFkZ Li"V dhft,A ;w-,u-Mh-ih- dh 1990 dh fjiksVZ ds vuqlkj ekuo

fodkl lwpdkad dks ekius ds rhu eq[; vaxksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr esa ekuo lalk/ku fodkl vkSj vkfFkZd fodkl ds fy, vPNs LokLF; dh vko';drk ds egÙo

dks Li"V dhft,A vPNs LokLF; ds {ks=k esa vkus okyh eq[; xfrfof/k;k¡ fyf[k,A
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26. Explain the ill effects of communalism and casteism in India. 6

Hkkjr esa lkEiznkf;drk vkSj tkfrokn ds nq"izHkkoksa dks Li"V dhft,A

27. (a)  On the given outline map of India (on page 9), locate and label the two states each

having one of the following monuments : 2

(i) Rashtrapati Niwas

(ii) Gol Gumbad

(b) In   the   given   outline   political   map   of  India   (on  page 11) are shown   three
geographical features marked A, B, C. Identify these features and write their names
in the space provided. 3×1=3

(c) In the same given outline political map of India (on page 11), locate and label the
following features and attach the map in your answer book : 3×1=3

(i) Digboi Oil Refinery

(ii) Bhadravati Iron and Steel Plant

(iii) Ennore Port

¼d½ fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds js[kk&ekufp=k ¼i`"B 9½ ij mu nks jkT;ksa dks igpkudj muds uke fyf[k,

ftuesa fuEufyf[kr Lekjdsa gSa %

(i) jk"Vªifr fuokl

(ii) xksy xqEcn

¼[k½ fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 11½ esa rhu HkkSxksfyd y{k.k d] [k] x

fn[kk, x, gSaA bu y{k.kksa dks igpkfu, rFkk fn, x, LFkkuksa ij muds uke fyf[k,A

¼x½ blh fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 11½ esa fuEufyf[kr y{k.kksa dh fLFkfr

fn[kkb, vkSj muds uke fyf[k, rFkk bl ekufp=k dks mÙkj&iqfLrdk esa layXu dhft, %

(i) fZMxcksbZ rsy ifj"dj.k'kkyk

(ii) Hknzkorh yksgk vkSj bLikr la;a=k

(iii) békSj iÙku

Note : The following question is for the Blind Candidates only in lieu of Q. No. 27 (a),

(b) and (c).

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ksa ds fy, iz'u la[;k 27 ¼d½] ¼[k½ vkSj ¼x½ ds

LFkku ij gSA

(a) Write down the two states each having one of the following monuments : 2

(i) Rashtrapati Niwas

(ii) Gol Gumbad
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(b) (i) Name the Software Technology Park, located in Jammu and Kashmir.

(ii) Name the northernmost thermal power plant of Andhra Pradesh.

(iii) Name the international airport of Goa.

(iv) Name the oil refinery located in Assam.

(v) Name the oldest iron and steel plant of Karnataka.

(vi) Name the newly established major sea-port in Tamil Nadu. 6

¼d½ nks jkT;ksa ds uke fyf[k, ftuesa fuEufyf[kr esa ls ,d&,d Lekjd fLFkr gS %

(i) jk"Vªifr fuokl

(ii) xksy xqEcn

¼[k½ (i) tEew vkSj d'ehj jkT; esa fLFkr lkW¶Vos;j izkS|ksfxdh ikdZ dk uke crkb,A

(ii) vka/kz izns'k ds lcls mÙkjh rki 'kfä la;a=k dk uke crkb,A

(iii) xksok ds vUrjkZ"Vªh; ok;q&iÙku dk uke crkb,A

(iv) vle esa fLFkr rsy ifj"dj.k'kkyk dk uke crkb,A

(v) dukZVd ds lcls iqjkus yksgk vkSj bLikr la;a=k dk uke crkb,A

(vi) rfey ukMq esa gky gh esa LFkkfir izeq[k leqnzh&iÙku dk uke crkb,A
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